Phase — | Question Paper Class - Il

M.M:60 Time:60 Minutes

Enaglish (15 Marks)

Which one of the following is the antonym of ‘shortest’?
A) weak

B) never

C) blunder

D) tallest

Which one of the following is the synonym of ‘hilarious’?
A) sad

B) funny

C) loud

D) happy

Choose the correct homophone:

Suhani has many pets like parrot, mouse and a

A) here

B) hair

C) hare

D) heir

‘Have you looked inside the room?’ Identify the type of adverb.
A) Adverb of Time

B) Adverb of Place

C) Adverb of Manner

D) Adverb of Quantity




Fill in the blank with the correct verb:

The dog is its tail.

A) wag

B) waving

C) wagging

D) has wagged

Choose the appropriate Preposition to complete the sentence:
Sita is sitting Ravi and Gita.

A) in between

B) between

C) into

D) above

Choose the appropriate Conjunction to complete the sentence:
You can read a story book _ a comic.

A) so

B) because

C) or

D) but

Hehastowear __ uniformfor ___ Sports Meet.
A) a, an

B) an, the

C) a, the

D) the, the

He wants to play the flute himself. Identify the underlined Pronoun.

A) Personal Pronoun

B) Possessive Pronoun

C) Reflexive Pronoun

D) Demonstrative Pronoun

Complete the sentence with the correct degree of Adjective:
Radhaisas __ asher father.

A) taller

B) tallest

C) most tallest

D) tall




What type of a Noun is ‘beautiful’?

A) Collective Noun

B) Abstract Noun

C) Proper Noun

D) Common Noun

Fill in the blank with appropriate Collective Noun:
A of singers.

A) gang

B) team

C) choir

D) flock

Choose the most appropriate Adjective to complete the sentence:
The _ man scolded the poor boy.

A) happy

B) angry

C) sad

D) none of these

Fill in the blank:

[ am very because I didn’t do well in the exams.
A) excited

B) upset

C) happy

D) surprised

Fill in the blank with the correct word from the given options:

We are goingto Delhi_~
A) tomorow

B) tommorrow

C) tomorrow

D) tommorow




Mathematics (15 Marks)

. 2 hours 10 minutes before 4:30 pm is:
A) 6:30 pm
B) 6:40 pm
C) 2:20 pm
D) 2:20 am
. Which of the following Roman numeral represents 48?
A) XXXXVII
B) LXVIII
C) XLV
D) XXXXIIX
. In an auditorium, seats were arranged in 32 rows and 16 columns. How many seats are there in the
auditorium?
A) 482
B) 512
C) 492
D) 502
. Study the pattern and choose the correct answer: 6,15,24,33, ?
A) 42
B) 38
C) 28
D) 32
. Select the INCORRECT option.
A) A cube has 6 faces.
B) A cuboid has 8 corners.
C) A sphere has no corner.
D) A cylinder has 4 faces.
. How many quarters make one whole?
A) 2
B)3
C)4
D) 6




. Find out the improper fraction from the given alternatives:

. Express1 m 7 cmincm,.
A) 107cm
B) 117cm
C) 8cm
D) 17cm
. Which one of the following options has the same quotient?
A) 3+ 3,16+2
B) 10 + 2, 12+2
C)18+3,27+3
D) 4+2, 6+3
. Jiya watched her favorite program from 3:15 p.m. to 3:45 p.m. For how long did she watch the
program?
A) 20 minutes
B) 25 minutes
C) 30 minutes
D) 35 minutes
. A consists of title, categories of data, a picture or a symbol related to the data and has a
key.
A) bargraph
B) pictograph
C) data
D) tally marks
. By subtracting the product of 45 and 9 from 999, we get
A) 549
B) 594
C) 495
D) 567




Q28. How many hours are there in 24 days?
A) 48
B) 567
C) 576
D) 288
. There are 173 students in a class. If the number of girls are 99 and the remaining are boys.
Then, the number of boys in class is:
A) 74
B) 76
C) 64
D) 99
. Compare by using the symbol <, > or =
600%8 4320 x0
A) <
B) >
C) =

D) none

EVS (15 Marks)

Q.31 The term ‘atmosphere’ means:
A) Blanket of oxygen around the Earth.
B) Blanket of carbon dioxide around the Earth.
C) Blanket of water vapour around the Earth.
D) Blanket of air around the Earth.
Arnav likes to eat carrot. Which part of carrot plant does he eat?
A) Flower
B) Stem
C) Leaves
D) Root
The animals which have ability to survive both on land and in water are called
A) mammals
B) amphibians
C) vertebrate
D) All of these




Goals, sticks, referee and penalty belong to
A) football
B) cricket

C) tennis
D) hockey
What do we call a person who defends people’s right in the court of law?
A) Policeman
B) Lawyer
C) Doctor
D) Engineer
are called the protective nutrients.
A) Vitamins
B) Carbohydrates
C) Fats
D) Proteins

Who amongst the following plays an important role in educating the Nation?

A) Teacher

B) Doctor

C) Nurse

D) Carpenter

Complete the given food chain.

Sun — Plants — Grasshopper — Frog —
A) Lion

B) Whale

C) Hawk

D) Parrot

Which of the following has six legs?

A) Cat

B) Ant

C) Octopus

D) Dog

Choose the activity that helps to keep the air clean.
A) Burning of garbage

B) Planting of trees

C) Going to nearby places in a car

D) Deforestation




Which disease is caused by polluted air?

A) Jaundice

B) Typhoid

C) Asthma

D) All of these

Which gas is present in the largest amount in our environment?
A) Oxygen

B) Carbon dioxide

C) Nitrogen

D) Helium

What is the approximate percentage of fresh water out of the total available water on the Earth?
A) 1%

B) 99%

C)97%

D) 3%

From which part of a plant is Saffron obtained?
A) Stem

B) Root

C) Flower

D) Fruit

Sandy soil is mostly found in

A) forests

B) deserts

C) mountains

D) grasslands

G.K (15 Marks)

Q46. Which sport is best known as the ‘King of Sports’?
A) Cricket
B) Football
C) Hockey
D) Tennis




QA47. Garhwali is the dance form of which of the following states?
A) Gujarat
B) Himachal Pradesh
C) Uttarakhand
D) Karnataka
Q48. Which is the National Aquatic Animal of India?
A) Shark
B) Golden fish
C) Ganges River Dolphin
D) Rohu
Q49. Who designed the Indian National Flag?
A) Rabindranath Tagore
B) Bankim Chandra Chatterjee
C) Pingali Venkayya
D) Jawaharlal Nehru
Name the currency of Saudi Arabia.
A) Taka
B) Riyal
C) Rupee
D) Yen
Of which country is Ice Hockey the National Sport?
A) Denmark
B) Sweden
C) Scotland
D) Canada
Whose birth anniversary is celebrated as the ‘National Unity Day’ in India?
A) Lala Lajpat Rai
B) Bal Gangadhar Tilak
C) Bhagat Singh
D) Sardar Vallabh Bhai Patel

. Rishi Sunak has been elected as the Prime Minister of which country?
A) Australia

B) Namibia

C) United Kingdom

D) Canada




Q54.Who invented Television?
(A) Roger Bacon
(B) John Adams
(C) John Logie Baird
(D) Louis Pasteur
Gangtok is the capital of which Indian state?
(A) Arunachal Pradesh
(B) Uttar Pradesh
(C) Sikkim
(D) Meghalaya
How many Asiatic Lions are there in the National Emblem of India?
(A) 4
(B)3
(C)6
(D)5
Who became the first Indian sports person to clinch the prestigious Diamond League Meet Title in
August 2022?
(A) P.V. Sindhu
(B) Dhana Lakshmi

(C) Hima Das
(D) Neeraj Chopra
Name the National Song of India.
(A) Jan Gan Man
(B) Saare Jahan Se Acha
(C) Vande Matram
(D) None of these

This planet has iron oxide on its surface because of which it is called the ‘Red Planet’.
(A)Mars
(B)Jupiter
(C)Saturn
(D)Earth
Folk Dance of Rajasthan is
(A) Garba
(B) Ghoomar
(C) Kathakali
(D) Odissi




